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4] 4 1 27,830| A 27.830[:A=EmHE |11EHE NV —ZXE (4B %) 5lE&EEL(YO—1)—R)
4]19 3,000,000 2.972170|mszna [ BISEENE BEESE 4~98 %)

4] 22 2 42,900| 2,929,270 (sAxmz | 2HERE BEMm-BEEH RE(H)

4] 23 3 4,800| 2,924470;R=H%| TREEAE (EHFREUASL) slE%LL (EAFHE)

4] 26 4 4,200| 2,920270[;R=M%E| TREBEAE [GFRFEUAL) SlE%EL GrreHiE)

4] 26 5 9,600| 2,910,670|5A=mzx| 7/HEEAE [ZH-BEFIEUES) lEELL GAEHE - BIRFRE)
4] 30 6 9,400| 2,901,270|5A=m%x| 7/HEEAE [EE-#FHEUAES) BIEZEEL (EZHR- HEHE)
5] 1 7 131,950( 2,769,320[s3A=#% |osrzmaERezs (K5 UWA D)

5] 7 8 31,570( 2,737,750|sAzm% | SENRIE aFE—#—X¥WAH) BlIEELLEA—TIFZFAFTVRA)
5] 7 9 27,830| 2,709,920 [sA=mE [11EHE NV —ZRE (58 5) 5lE&EEL(YO—1)—R)

5] 8 10 325,000| 2,384,920(s@%ME | 2HIRIRE Kom-Z2RSHT-LETH  |HREGHR)

5] 20 11 9,328 2,375,592|s@=®z | SEIRIE NTA—IVAFr—UH GRS |BIEEREL (E—FF)

5] 20 12 6,259 2,369,333 =M% |11 EHKE IE—BE. QY GEBR)  SUT TS — |BIEEEL (Fr/U Y RTLTURGHR—F)
5] 23 13 4,800| 2,364,533|;R=H%x| TREEAE [EHFREGASR) 5|=%EL (B HFRR)

5] 27 14 4,200| 2,360,333[;R=H%E| TREBEAE [GZRFREIGAR) 5|E&EEL GR5TER)

5] 27 15 9,600| 2,350,733 5=z | /HEEAE (ZH-BEFEGHES) lEELL GAEHE - BRFRE)
5|27 16 5016 2,345717|5R=HE| SEIEE A 3—2 VIR (4B 5)  [BIE%EEL(R-032=4—230R)
5] 27 17 9,400| 2,336,317 5=z | /HEEAE [EE-#FHEGAES) BIEZEEL (EZHR- HEHE)
5] 27 18 23,100| 2,313,217 [AZEHE s resnaEmes |[RERRE EEE2ERBGASD)

6] 3 19 31,570| 2,281,647|5a&w%| SENRIE aFE—#—XEGAS) BlIEELLEA—TIZFAFTVRA)
6] 3 20 136,600( 2,145,047|3RE#HE |osrznaEnezs |(KE5EGAR)

6] 4 21 27,830( 2,117,217 |sR&Emz [11FEHFE yar)—2%(684%) 5lE&EEL(YO—1)—R)

6] 11 22 2,200] 2,115,017 5= | 7TREEAE [ FELELXEDIGLEER

6] 20 23 5,395| 2,109,622|s@=rz | SENRIE INTA—RRAFY—UR (GAD) |5IEEHEL (E—FF)

6] 24 24 4,800| 2,104,822|;R=m%| 7TREEAE (EHFEI6AHL) 5|=%&EL (B HFRR)

6] 24 25 23,100| 2,081,722 [3A=E#HE [0 rEsnaEREs |RERRE E£E2EREGAS)

6] 26 26 4,200 2,077,522z TREBEAE [GFRFEIG6AD) SlE%EL GrRreHiE)

6] 26 27 9,600| 2,067,922|sA=mzx| 7/HEEAE [ZH-BEFHEGES) 5|=%EL (BAH - BEREE)

6] 27 28 5,016| 2,062,906 (R=®%E| SEIEE A 3—x VIR (6B 5)  [5IEEEL(R-032=4—230X)
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7] 1 31 6,710] 1,976,796 |sA=mz | 7ERIZEEAE | o sty B ALHIEE,

7] 1 32 158,950| 1,817,846|:R=EME |osrznmaEmnezs (K5 6A D)

7] 3 33 31,570( 1,786,276 |sazmz| SENRIE aFE—#—X$6A ) BlIEELLNA—TIFZFAFTVRA)
7] 4 34 27,830| 1,758,446 [sA=m= [11EHE yav)—22$(84%5) 5lE&EEL(YO—1)—R)
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7] 22 36 64,240] 1,669,532|m&amz [11FHEE PDFRE Y 7R EHE 28) (R6.7~R76) [FIZHEL(E—BF)

7] 22 37 13,758] 1,655,774|sm=wm| SHIRIE INTA—RAFY—UR (6AD) |5IEEHEL(E—FF)

7] 23 38 4,800| 1,650974[;R=mx| TREEAE (EHFREUASL) 5|=%EL (B HFRR)

7] 24 39 23,100| 1,627,874[3A=#HE s rsnarmes |[RERRE EEE2EBRE6AS)

7| 26 40 4,200| 1,623,674[;R=H%x| TREBEAE [GZRFETAL) 5lEEEL GR5TFR)

7] 26 41 9,600| 1,614,074|5A=m%x| 7/HEEAE (SR -BEFIEAGES) 5|=%EL (BAH - BEREE)

7] 29 42 5016/ 1,609058|:8=#%E| SBEIEE A 3—2 VIR (685)  [5IE%EEL(R-032=4—230X)
7] 29 43 9,400| 1,599,658|5A=mMzx| /HEEAE [EX-#FFHEGES) 5lEEEL (ER-HP )

8] 1 44 4,620| 1,595,038|5A=m%x| 7TREEAE |[[NEEZHEXHETS]

8| 1 45 168,550| 1,426,488|3R=#% |osrzmaEmezs (K5 TAR)

8] 5 46 31,570| 1,394918|5a&mz| SENRIE aE—#)—XH (T HR) BlIEELLENA—TIFZAFTVRA)
8] 5 47 27,830| 1,367,088 [sA=m=E [11EHE N\yar)—RE(BASR) 5lE&EEL(YO—1)—R)

8l 19 199 1,367,287 [FIE  [FIR FIE

8] 20 48 9,046| 1,358,241|3R=®z%| SHIRIZE INTF—RVRAFY—UHTAR) [BIEFREL(E—FF)

8|23 49 4,800| 1,353441|;Rz=mx| TREEAE (EHFEGASR) 5|=%EL (B HFRR)

8| 26 50 4,200| 1,349,241 [;Rz=Hx| TREBEAE [GFRFEGAL) 5|EEEL GR5THR)

8] 26 51 9,600| 1,339,641 |5A=mzx| /HEEAE (ZH-BEFHEGHEL) lEELL (GARHE - BIRFR)
8| 27 52 9,400| 1,330,241 |5A=m%x| /HEEAE [EX-#FHEGHEL) 5lEEEL (FER-HP )

8| 27 53 5,016| 1,325,225(3R=/%| SEIEE A 3—xyRFIRE (T 5)  [5IE%EL (R-032=4—230X)
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9] 2 55 136,150| 1,155,195|3R=# % |osrznaEnezs [R5 BA D)

9] 3 56 31,570( 1,123,625|s8zmM%| SENRIE aFE—#—X$ BASH) BlIEELLENA—TIFZFAFTVRA)
9] 4 57 27,830| 1,095,795[sA=m=E [11EHE Nya ) —RE0AS) 5lE&EEL(YO—1)—R)

9] 19 58 6,875| 1,088,920z |11 EHKE PCY4ILRINRE—EH%] SH6E10A ~SF7E6H

9] 20 59 12,182[ 1,076,738|sm=wmz | SEIRIE INTA—IVRATFr—UHBAR) |BIEEREL(E—FF)

9] 24 60 4,800 1,071,938[;R=mx| 7TREEAE (EHFRE0OASL) 5|=%EL (B HFRR)

9] 25 61 23,100| 1,048,838[A&#E [0 rzsnaEmEs |[RERKE EE£E2EKREGAS)

9] 26 62 4,200| 1,044,638[;R=m%| TREBEAE [GZRFEOOASD) 5|EEEL GR5THR)

9] 26 63 9,600| 1,035,038|sA=mzx| 7/HEEAE [ZH-BEFHEOEHL) lEELL (GAEHE - BRFRE)
9| 27 64 5016/ 1,030,022|5=#E| SBEIEE A 3—x VIR (BA5)  [BIE#EEL(R(-032=4—230X)
9| 27 65 9,400| 1,020,622|sA=m%x| 7/HEEAE [EE-#FHEOEHS) lEEEL (ER-HP )
10] 1 66 161,650] 858,972[sAz®% [oarsnarmes (85 (OB H)

10| 3 67 52,617| 806,355|58&m%| SENRIZ JE—#EY—X$ (R6I~R1.6A M) |BIEFEEL O ¥—TI7A4F U R)
10] 4 68 27,830 778,525|sEwHz [11FEHFE NV —ZRE (108 H) 5lE&EEL(YO—1)—R)

10] 9 69 190,600 587,925|5a% | 2HHiRRE MEmm., TEm, KEfH R (44)

10/ 18 3,000,000 3,587,925 [mmans | BIEEEE BEESHE (10~38%)

10] 21 70 10,433| 3,577,492|sm=wme | SHIRIE INTA—IVRATFr—UH AR |5IEEREL(E—FF)

10] 21 71 5,771 3,571,721 |sEmx |11EHEE JE—F#R (A4.B5) BIEHEL (Fr /UL RTFLTURYH—F)
10] 23 72 4,800| 3,566,921 [;=mx| 7TRHEEAEZ [EHFHREU0ASR) 5|E%&EL (B HFRR)

10[ 24 73 20,636| 3,546,285[AEHE [0 rEsnaERES |[RERRE EEE2ERE0OAS)

10] 28 74 4,200| 3,542,085|5=mzx| 7/REEAE [FEHE(0BS) SlE%EL GrreHiE)
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10] 28 75 9,600| 3,532,485|A=mx| /HEEAE [BH-BEFHEC0BSR) 5|=%EL (BAH - BEREFR)
10{ 28 76 5,016| 3,527,469[:R=®%| SEIEE A 3—x VIR (98 5)  [5IE%EEL(RM-032=4—230X)
10 28 77 9,400| 3,518,069 5=z | 7HEEAE [EE-HEHEG0ASR) SlE%REL (ER- P )
11] 1 78 174,100] 3,343,969 |sA&E®ZR mg;m%gizmga ﬂ;ﬁ%{%ggﬁ% o S

1] 1 79 2,090| 3,341,879|:E=mzE| 7THEEA AR HEADAHEE B11AE]

11] 5 80 27,830( 3,314,049|s@=wmz [11FEHFE N\ya)—REA1AS) 5lE&EEL(YO—1)—R)

11] 20 81 14,697| 3,299,352|sR=m | SHIRIE RIA—TURFv—UR (1085 |BIEEREL (E—FF)

11] 20 82 3,265| 3,296,087 A& 11%?;% % aw(:%;gi)-ﬁ%-wuwuw %RU%%A?'J—T—-EIE%—?(EE%K)
11] 25 83 4,800| 3,291,287 (=M% 7TREEA SEHHEG1AR) 5lE%ELL (ERFR)

11] 25 84 20,636] 3,270,651 |:A&EHZE mg;ﬁ%ﬁﬁfﬁiﬁﬁga ﬁi&f:?;ﬁ?;%-(@iﬁﬁ%f)%ﬂﬁ*ﬂr(mﬁﬁ) R ARC T |

11] 26 85 4,200| 3,266,451|:A=EmzE| 7TRES ST EE (1S 3 BTt i

11] 26 86 9,600| 3,256,851 |5A=mzx| 7HEEAE (BHH-BRFEGIASD) 5|=%EL (BAH - BERFR)
11] 27 87 5,016| 3,251,835[3R=®%E| SEIEE A 3—x VIR (108 5) [3IE%EL (R-032=4—230X)
11] 27 88 9,400| 3,242,435|5=m%| 7/HEEAE |EE-MHEFHEGI1IASR) SlE%REL (ER- P )
12| 3 89 151,000{ 3,091,435|sm&E#HE 10%%’&;?&5&%&% ﬁ‘-é.‘L-}(HEé:‘)*Jr . 5

12] 4 90 27,830| 3,063,605|sm=Emz |11 Xyav)—XE2859) slEELL(JI—J—X)

12[ 10 91 70,000{ 2,993,605|:@EMHE [osrswaEnes | FX—HKS

12[ 20 92 5438| 2,988,167 =z | SEIRIE RIA—TRFv—UR1AS) |BIEEREL (E—FF)

12[ 20 93 4,675| 2,983,492|sEm% |11 EHKE PCY4ILRINRE—EH%] SH7FE1H~TH7568
12] 23 94 4,800| 2,978,692|s=mx| 7/HEEAE [EAFHB(285) slE%LL (EAFHE)

12] 24 95 20,636| 2,958,056 |zm=EHE mg;ﬁ%ﬁﬁfﬁiﬁﬁga ﬁiliiﬂ?;%-(@iﬁﬁ%f)%ﬂﬁ*ﬂrmﬁﬁ) R ARC T |

12] 26 96 4,200| 2,953,856 |5&wz| 7TRIES SeocarE (128 5 3 BTt i

12] 26 97 9,600| 2,944,256 |5=mzx| 7HEEAE (BH-BRFHEG28 ) 5|=%EL (BAH - BEREE)
12] 27 98 5,016| 2,939,240(R=®%E| SEIEE A 3—xyrFIRAE 1B %) [31E%EL (R-032=4—230X)
12] 27 99 9,400| 2,929,840|5=m%x| 7HEEAE |EE-#HFEHEG28S) SlE%REL (ER- P )

1l 6 100 27,830( 2,902,010|s@&mz [11FEHFE ;L\:‘/:‘/U—X*MF ) 5lE&EEL(YO—1)—R)

1] 6 101 161,650( 2,740,360 |sA=E o rsmaEmnes [R5 (128 9)

1] 20 102 15,240| 2,725,120[sA%m%| SHIRIZE RIA—TURFv—U8 (1285 |BIEEREL(E—FF)

1] 22 103 1,980| 2,723 1405w | 7TRIZEBAE |EBHEXE

1] 23 104 4,800| 2,718,340[;R=m%| 7THEEAEZ (EEFHE (U AS) 5|E%EL (B HFRRE)

1] 27 105 4,400| 2,713940[;R=m%| 7TRHEEAE [FRFIEGAR) 5lE%EEL GR5TFR)

127 106 9,600| 2,704,340|5A=m%x | 7HEEAE |BHH-BRFEGARD) 5|=%EL (BAH - BERER)

1] 27 107 5,016| 2,699,324[:R=m%E| SHEIEE A 3—x VIR (128 5) [31E%EL (R4-032=4—230X)
127 108 9,400| 2,689,924|sA=m%| 7THEEAE EE-MHFEFHFEGASR) SlE%EL (ER-HE )

1] 27 109 31,416| 2,658,508 [FAEME |108REBEERARE zﬁfgﬁﬂ-giﬁ\eﬁwunﬁ-Ei—aﬁﬁm

2] 3 110 139,300( 2,519,208 |:AEME [oerzweERsz |5 (O AR)

2] 3 111 2,200 2517,008[sEHR| 7THEEAE |[[ILK FEL~DHERA

A 112 27,830( 2,489,178|:&Emz [11FEHFE Ny ) —RECHR) 5lE&EEL(YO—1)—R)
2|17 997 2,490,175|F82  |FIE FIE

2| 20 113 4,400 2485775|@=mz| SEIRIE INTA—RAFY—UH O AD) |BIEEREL(E—FF)

2] 21 114 20,636| 2,465,139[AZEHE (o resnaEmes |[RERRE EEE2EREBUASD)

2] 25 115 4,800| 2,460,339[:A=m%| TRHEEAEZ [(EEFHE(28%) 5|E%EL (B HFRRE)

2|26 116 4,400| 2,455939(;R=m%| TREEAE [FRFE(2A%) 5lE%EEL GR5TFR)

2|26 117 9,600| 2,446,339 &R 7%@5]&% EﬁEIG-I Eli%%ﬁl%ﬁ(zﬂ ) - Sl=% L (BRAFED)

2|27 118 5,016| 2,441,323|;=mz| SHEIE A 8—2yrRIBE (1 AS) |s1E#LL(R1-032=4—2avX)
2|27 119 9,400| 2,431,923|sA=M%| 7/RHEEAE EE-MHFEFE(CAR) lEEEL (ER-HP )

3] 3 120 147,250| 2,284,673|;REMHE [osrzwaEnezs [R5 2A)

3] 4 121 27,830( 2,256,843 @&z [11FEHFE Ny ) —RE(@HER) 5lE&EEL(YO—1)—R)
3[17 122 2,750| 2,254,093[A=M%E| TREBEAE [ \7BEEHOLHOT—savT )

3] 21 123 13,676] 2,240,417[:Azxmz| SHRIZE INTA—RURAFY—UH AN |5IEEREL (E—FF)

3] 21 124 20,636| 2,219,781 [AZEME [oarEnaERES [REERE - -EEE2RIRE2AS)

3] 24 125 4,800| 2,214,981 |;R=mx| 7THEEAEZ (EBHE(3AS) 5|E%EL (B HFRRE)

3] 26 126 4,400| 2,210,581 |;R=m%| 7THEEAE [FRFE(BAR) 5lEEEL GR5TFR)

3] 26 127 9,600| 2,200,981|s&E#ZE 7%@5]&% EﬁEIG-I Ei%%ﬁl%ﬁ(?:ﬁ ) - Sl=% L (BRAFED)

3|27 128 5.016| 2,195,965z | 8IS A 3—2yrFIRE (2A%) |51E#LL(N1-032=4—2avX)
3|27 129 9,400| 2,186,565|5=mM%x| 7/HEEAE |EE-MHFEHE(SAR) lEEEL (ER-HP )

4] 1 130 163,300| 2,023,265|3REHE [0 rzwaERezs [R5 (BAD)

4/21] 131 11,401] 2,011,864 |3 5% | SENRIE STA—RURAFH—UR (A |SIEHEEL (BE—BF)

4] 22 132 20,616] 1,991,248[3AZEME [oxrEnaERES [RERRE - EEE2RIRE(BAS)
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